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Question 1

Question Type: MultipleChoice

In the material master record there are three planned prices: "'Planned price 1™, "™Planned price 2"and"'Planned price 3™. What do you
use them for?

Options:

A- To valuate goods movement
B- To valuate the materials in cost estimates
C- To valuate material stocks

D- To update the standard price during the release of a standard cost estimate

Answer:

B

Question 2

Question Type: MultipleChoice




Which of the following objects can be selected in templates for activity-based costing? Note: There are 2 correct answers to this question.

Options:
A- Cost center/activity type

B- Internal order
C- WBS element

D- Business process

Answer:

B, C

Question 3

Question Type: MultipleChoice

You are creating new activity type and want to maintain plan prices for a cost center. Which attribute must you configure in the activity
type master record? Note: There are 3 correct answers to this question.



Options:

A- CO version

B- Valid cost center categories
C- Company code

D- Price indicator

E- Activity type category

Answer:

B,D,E

Question 4

Question Type: MultipleChoice

You would like to allocate primary and secondary costs from a cost center to another cost center. Which allocation method will you use?

Options:




A- Assessment
B- Distribution
C- Periodic reposting

D- Direct activity allocation

Answer:

A

Question 5

Question Type: MultipleChoice

How do you maintain number range intervals in Controlling?

Options:

A- By account type
B- By cost element category

C- By business transactions



D- By document type

Answer:

Question 6

Question Type: MultipleChoice

You are setting up costing-based Profitability Analysis for your organization. How do you configure the deferent market segments?

Options:

A- As divisions
B- As value fields
C- As key Figures

D- As characteristics

Answer:




Question 7

Question Type: MultipleChoice

You have activated budget availability control against the overall value for an internal order and entered an overall budget of 10000.
Actuals of 10000 were posted in the previous year.

You are surprised to realize that a purchase order 1000 was created for this internal order in the current year.

How is that possible?

Note: There are 2 correct answers to this question.

Options:

A- The purchase order has NOT generated a budget yet.
B- The purchase order was entered in a different year than the budget.
C- The cost element is exempted from budget availability control.

D- The difference of 1000 is within the tolerance limits defined in the configuration.



Answer:

C,D

Question 8

Question Type: MultipleChoice

At which level do you define the valuation method for results analysis?

Options:

A- Controlling area
B- Company code
C- Plant

D- Operating concern

Answer:

A



Question 9

Question Type: MultipleChoice

Which default values can you configure for the product cost collector? Note: There are 2 correct answers to this question.

Options:

A- Result Analysis (RA) Version
B- Result Analysis (RA) key
C- Costing variant for preliminary costing

D- Variance variant

Answer:

B, C

Question 10

Question Type: MultipleChoice




You are considering using commitment management with internal orders. What do you need to do in the configuration?

Options:

A- Activate commitment management in both the controlling area and the order type.
B- Activate commitment management in the controlling area, the order type, and in individual internal order master data.
C- Activate commitment management in both the version and the order type.

D- Activate commitment management only in the controlling area.

Answer:

Question 11

Question Type: MultipleChoice

How does SAP S/4AHANA determine if a characteristic value is valid in Profitability Analysis?



Options:

A- By defining the characteristic value as a value field
B- By defining the characteristic value in the field catalog
C- By defining the characteristic value in the check table

D- By defining the characteristic value as a key figure

Answer:

C
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